FERRXFAMNE—ER

XEMTEE10R1B LY KT
OEEBGHF LV I—KEE OEEHKIG
<Bfi:[M., 1EERE%HY> <Bf:[M. 1EERE%HY>
—h EREUT —h EREUT
£m| +m\ 2| +m| A 620 310
HA 310 150 150 70 A tk it 930 460
RAMEGIR
& | 460 230 230 110 bl I PN T TR 1,860
7u—+ | | Asssum 930 460 i =3B 6,200
i BB/ 3,100 1,550 0l 310 150
LERN: 30 10 7 * st 460 230
A 210 100 TIOUE R A s e 930
LT 310 150 i =5 B i 3,100
SEE A5 AU 630 Gl 210 100
EMEM 2,100 st 310 150
AEER 70 30 REBE A5 AU 630
EMEM 2,100
AEER 70 30
OHEMERE E RIS . 24T 6,280 3,140
" w . FREARR (B
<Bifi:F. 1EEREIZHY > g H4T 3,140 1,570
T — — i AR LT FOXE R (1E) 310 150
L% 1,040 520
Kk mst 1,560 780
Rerr B [ Asnmn 3,120 OHMBRGHE L A—T—IL
=R EN 10,400 <BAfi:F. 1EEREIHY >
EAFIA 100 50 —h& EREUT
A 210 100 Far | F | w Fa | F | w
st 310 150 EEFAdEN) 110 50
SEE AR 630
= 1=k:0) 2,100 X1 MHDOAGHERIRT 556 (EFNZEMELEVMEGEIZRS) OFI ARSI,
AEEM 70 30 CORICEHDEDIBEDELET S,

B AREE

YEZAESKRAITHICEDD

X2 THDOEFZENETHEEDFAMELCORICEDIEN10ENELT D,




RERRFAN—ER

HKEMTEFI0F1BEYHET
ORERF LV H2— BT O 1BFEHEUHEE
—fh% EREUT
2| Hm 2| Hm
BERMA 310 150 150 70
G5 A S HEHEUIR 930 460
A ié.‘%ll B 3,100 1,550
S BHEFIA 460 230 230 110
4t ASEHEHEUIR 1,380 690
EFBEM 4,600 2300
BEAFIA 30 10
BERMA 210 100
G5 ASEHEHEUIR 630
] A jé.‘%llﬁﬁ’a 2,100
SEE BERMA 310 150
Gik) A HHEUR 930
EFBEM 3,100
AEER AR 70 30
OZ BHIm IS BT O 1BFEHEUHEE
—fhg EREUT
£m| Hm 1/48 2| Hm 1/48
BEMA 2,090 1,040 520 1,040 520 260
A A SR 6,270 3,130 1,560
EFEH 20,900 10,450 5,220
BEMA 3,130 1,560 780 1,560 780 390
st A SR 9,390 4,680 2,340
EFEH 31,300 15,600 7,800
BEAFIA 200 100
24T 6,280 3,140
HREAGE R AT 3,140 1,570
1/4%T 1,570 780
XKEATO, BRZLELYTLHIEREOF AT
<>§_E RIFR 5 E B R BT 1BFEHEUHEE>
—fg EREUT
BEFA 210 100
G5 ASEHEHEUIR 630
s A jé.‘%IJEE’a 2,100
1=-o% BEFA 310 150
Gika A HHUR 930
EFBEM 3,100
AEERM AR 70 30
I —E 110




KE TR AR — R R
MAFOTAE 10 H 1 H X kE

OFfET =Aa—h < BN F9. 1 EERIY -0 >
— ER LT
TN 520 260
- B T4k 780 390
L

R ARSI 1, 560
F B Y 5, 200

HE B 22 520 260






